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dyn 1
1 =10 dyn 1 =10 dyn 1 =10 dyn 1 =10 dyn
1 =10 dyn 1 =10 dyn 1 =10 dyn 1 =10 dyn
3 r t
r(t) =coswti+sinwt j+tk
a(t) i, k X y z
w
a(t)=sinoti+cosmt j+tk a(t) =sinwt i +coswt j
a(t) =-wsinwti+wcoswt j+tk a(t) =-wsinwt i + wcoswt |
a(t)=w’coswti+w’sinmt j+tk a(t) = 0’ coswt i + W’ sin wt |
a(t)=-w’cosoti-w’sinot j+tk a(t) = -’ cosot i-o’sinwt j
m 3 r t
r(ty=cos2ti+3e™" j+9tk F(t)
I, k X y z
F(t)=mcos2ti+3me™ j F(t)=-mcos2ti—3me™ j
F(t)=4mcos2ti+3me™ j F(t)=-4mcos2ti+3me™ j
F(t)=msin2ti+3me™" j F(t)=-msin2ti-3me™" j
F(t)=4msin2ti+3me™ j F(t)=-4msin2ti-3me™ j
m F=-mgk
t=0 v=2i+3j+8k i, k
X 3% z g
r t
r(t)=2ti+3t j+(gt°/2+8t)k r(t)=2ti+3t j+(-gt°/2+8t)k
r(t)=2i+3 j+(gt?/2+8t )k r(t)=2i+3 j+(-gt?/2+8t)k
rit)=2ti+3t j+(gt*+8t)k rit)=2ti+3t j+(—gt’ +8t)k

rt)=2i+3j+(gt* +8t)k r()=2i+3j+(-gt*> +8t)k



i, k

U =mg x
U =-mg x

u(x,t) = A sin

u(x,t) = A sin

u(x,t) = A sin

. 2
u(x,t)=A sin —(X——
(x,1) z ( C2)

F=-mgk

U(x,Y,2)
u(0,0,0)=0
U=mgy U=mgz U=mg(X+Y)
U=-mgy U=-mgz U=-mg(x+Y)
o°u o°u
?:CZGXZ U(th) C
A A
27 27
— (X —ct u(x,t)=A tan —(x—ct
ﬂ ( ) (x,1) 1 ( )
27 t 27 t
—(X—— u(x,t)=A tan —(xX——
7 (x=-) (x,1) n ( C)
27[ 2 272' 2
—(x—-ct u(x,t)=A tan —(x—-c-t
7 ( ) (x,1) 7 ( )

t

27 t
u(x,t)=A tan —(X——
(x,1) z ( C2)

n Vi 4 n,
i viAN, ik n12 ik nz2
n2 nl n22 ﬂl2
v WA, v, A,sin AL v, A, COS AL
1 1
TIK] n
R [3/(mol  K)]
n 5
nT nRT —RT =nRT =nRT
2 2 2
500[K] [ °]
[ °]
8.31[J/(mol  K)]
0.693 e 2.72
5.76x 10°[J] 1.66x10*[J] 3.32x10*[J] 6.14 x 10*[J] 6.65x 10*[J]
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o[ 1=273[K]
0 0.063 0.70 1.0 16
11 [ 1 100[ ] [ ] 80[cal/g]
4.2[3/cal] o[ 1=273[K]
80[J/K] 120[J/K] 620[J/K] 1200[J/K] 3600[J/K]
12 7x107*°[kg] 300[K] X 300[m/s]
900[m/s] e
1.4 x107 /K]
e0.067 e0.60 e1.3 eZ.S e6
13 (0,3,0) —q[C] (50,0) +2¢[C]
¢Vl &[F/m]
(0,0,)
9 9 . q
307 &, 607 &, 1207 &,
q q q
1207 &, 607 ¢, 307 &,
14 I[A] ds R[M]
dB[Wh/m?]
Ho Hol I
dB=—"—"—(dsxR dB=—"—(dsxR dB = dsx R
4z re R arre SR ar e R
| y7n y78
dB = dsxR dB =—""—(Rxds dB=—""—(Rxds
47r,uOR3( *R) 47rR2( x5) 47zR3( x5)
15 S[m?] d[m]
V(t) =V, sin2z v t)[V]
g, [F/m] v
&, dV,sin(2z vt) & %VO sin(2z v t) 27 d g, v SV,cos(2z vi)

21 &, v%V0 cos(2z v t) 4r g, %VO sin(2z vt) Ar g4 %VO cos(2z v t)
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p[C/m?] &,[F/m] 1o [H/m] E[V/m]
B[Wb/m?] i [A/m?]
div(s,E)=p divB =0 rotE = _B rotB =g, /JOE-I— Lol
ot ot
17 y i,],.k X, Y,2
A[m] v[Hz] t[s] Eo[V/m] (x,¥,2)
E:Eosin(%[y—Zm/t)k (x,y,2)
B[Wb/m?] B,[Wb/m?]
.27 2r .21 .
B:BOS|n(7x—27zvt)k BzBocos(Tx—Zﬁvt)k B=BOSIn(7y—27rvt)l
2r . .27 . 2r .
B:Bocos(Ty—Zm/t)l BZBOSIH(TZ—Zﬁvt)j B:Bocos(72—27rvt)]
18 1/2
3 2 2 3
= = 2 > J3 2 3
5B 2
19

20

1
3

O

28



